Attachment B EXHIBIT A - Statement of Work (SOW)

19, 2018



16425 Hart Street Van Nuys CA 91406 818-997-7667 818-997-1513

jeffrey@rotorcraftsupport.com

TO Santa Barbara County Air Ops 900 Airport Road, Hanger #7 Santa Barbara, Ca 93460

EXPIRATION DATE

February 18, 2018 QUOTE NUMBER RSI Q1702

N205KS ELECTRICAL BURNING SMELL

	DESCRIPTION	QTY	UNIT PRICE	LINE TOTAL
1	PILOT REPORTS BURNING ELECTRICAL SMELL IN THE COCKPIT	1	50,000.00	50,000.00
	PERFORM VISUAL INSPECTION AND OPERATION CHECK OF ALL ELECTRICAL EQUIPMENT. REMOVE COMM / NAV EQUIPMENT AND SEND TO OUTSIDE VENDOR AS REQUIRED FOR EVALUATION, INSPECT AND REPAIR CIRCUIT BREAKERS AS REQUIRED, INSPECT AND REPAIR OVERHEAD LIGHTING AS REQUIRED. INSPECT AND RESEAL CABIN ROOF AND WINDOWS AS REQUIRED. REINSTALL ALL REMOVED EQUIPEMNT AND PERFORM FINAL OPERATIONAL CHECKS			
	ANY ADDITIONAL ITEMS WILL BE QUOTED SEPERATELY			
		TOTAL	\$	50,000.00

THE ABOVE QUOTE HAS BEEN PREPARED AIRCRAFT SIGHT UNSEEN AND SHOULD BE CONSIDERED BUDGETARY ONLY. POSSIBLE EXTRAS:

It is projected that the execution of the aforementioned quote will take approximately TBD days. Rotorcraft Support, Inc. shall not be responsible for delay in the performance of this Agreement due to causes beyond its reasonable control and without fault or negligence. Such causes may include acts of God; acts of war; acts of government; inability to procure accessories, equipment or parts; strikes or labor troubles causing cessation, slowdown or materials, interruption of work and inevitable delays in transportation.

The above estimate should be used as a budgetary tool only. Any hidden damage found during dimensional checks and preliminary inspections shall be considered as Additional Work Required (AWR) and will be quoted separately for customers approval. *** The Customer is responsible for shipping / handling fees, and taxes ***

payment schedule.

Signature: ____

Date:

The above quote was prepared by Jeffrey Teubner, VP of Quality & Technical Operations THANK YOU FOR YOUR BUSINESS



16425 Hart Street Van Nuys CA 91406 818-997-7667 818-997-1513

jeffrey@rotorcraftsupport.com

TO Santa Barbara County Air Ops 900 Airport Road, Hanger #7 Santa Barbara, Ca 93460 DATE Jai

January 17, 2018

EXPIRATION DATE QUOTE NU

February 16, 2018 QUOTE NUMBER RSI Q1701

N205KS MAINTENANCE AND REPAIRS

	DESCRIPTION	QTY	UNIT PRICE	LINE TOTAL
1	Perform Tail rotor Impact and sudden stoppage inspection IAW TM55- 1520-210-23-1 / BHT-205-MM1 and BHT-212-MM1	45	110.00	4,950.00
2	Remove and replace Tail rotor blades and attach bolts 212-010-750- 011FM customer supplied parts	0	28,682.00	0.00
	Removal and installation labor	6	110.00	660.00
3	Remove and replace tail rotor hub assy 212-011-701-125	1	26,456.00	26,456.00
	Removal and installation labor	2	110.00	220.00
4	Remove and overhaul 42° gearbox	1	3,659.25	3,659.25
	Removal and installation labor	5	110.00	550.00
5	Remove and overhaul 90 ° gearbox	1	3,084.60	3,084.60
	Removal and installation labor	5	110.00	550.00
6	Remove and overhaul tail rotor drive shaft hanger assy	4	1,924.20	7,696.80
	Removal and installation labor	8	110.00	880.00
7	Remove tailboom and conduct inspection on fuselage and tailboom attachment flange	5	110.00	550.00
	Perform NDT on flange	2	110.00	220.00
	Replace Tailboom attachment hardware cost under misc	0	0.00	0.00
8	Remove and inspect output quill	6	110.00	660.00
9	Remove / inspect / and reinstall tail rotor drive shaft	8	110.00	880.00
10	Perform tail rotor balance	4	110.00	440.00
11	Records	16	110.00	1,760.00
12	Misc	1	3,500.00	3,500.00
		TOTAL	\$	56,716.65

THE ABOVE QUOTE HAS BEEN PREPARED AIRCRAFT SIGHT UNSEEN AND SHOULD BE CONSIDERED BUDGETARY ONLY. POSSIBLE EXTRAS:

It is projected that the execution of the aforementioned quote will take approximately TBD days. Rotorcraft Support, Inc. shall not be responsible for delay in the performance of this Agreement due to causes beyond its reasonable control and without fault or negligence. Such causes may include acts of God; acts of war; acts of government; inability to procure accessories, equipment or parts; strikes or labor troubles causing cessation, slowdown or materials, interruption of work and inevitable delays in transportation.

The above estimate should be used as a budgetary tool only apply hidden damage found during dimensional

checks and preliminary inspections shall be considered as Additional Work Required (AWR) and will be quoted separately for customers approval. *** The Customer is responsible for shipping / handling fees, and taxes ***

Signature: ____

payment schedule.

__ Date:___

The above quote was prepared by Jeffrey Teubner, VP of Quality & Technical Operations THANK YOU FOR YOUR BUSINESS